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Zujuunwtth Zwipuy bnmpub yhnwlub pmgth dhgngukph hwodht hpwlwgynn qunmdbbph
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( puwn prmgkwnuyhl Swjuubph qhpunbuswlub puuwljupgulul)

Opwghpp

Uljuinulp Uywpwnh ygwhywidwb swjukp

puwdhti 1 junwdp 1 nuu 1 dpughp 51

(puwn ppmiglkwnuyhl Swjuukph gnpéwnbwlpul puuwjupgquul)

Uhgwlighly Qi Qunhdwl Uhwynph | Cingudkup | Lwbuly
innp punn Uy pubpltph Swnwympinititikph b alp Uphuwnpp ghtip dwhiukpp
CPV wohmnnwpbiiph wijwbnudubkpp /pupugu /mpundny/ | /hwuq.npud/
nuuwljup Yupgp/
quub
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UNruue
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QrUUEBL3UYUSPL MULUSULED
30197622 pninp A-4 /xerox/ PCUZ hwuwn 1900 66.5 35
39263200 gpwukiywluyht ghpp /92 plipp/ FCUZ hunn 500 25 5
30192160 ouniphfu PLUZ hun 250 2.5 10
30234300 nuunwpl ujujunwul PCUZ huin 100 4.0 40
22811170 upnudubph poupp PCUZ huwwn 100 2.0 20
22851200 pnpwywiul hndqud PLCUZ hwwn 150 3.0 20
30197233 pnpuywbwl phkpnyg PLUZ huwwn 80 24 30
30197231 ppwywiwlu $uy PLUZ winuth 1000 5.0 5
30197232 prpwywiwl wpuquljup PLUZ hun 80 3.6 45
30197232 | pppwwwiwl wpuquljup/ gniiuynp/ PCUZ huin 170 34 20
30197233 | pnpwwwhwl pkghuwnp /Eplonuljuih / PCUZ huwn 800 4.0 5
30192137 dwwnhwn /hwuwpuly/ PLUZ hwwn 70 0.7 10
30197100 | Yuiphsh dbwnwnujupk juubp /dhght/ PLUZ winuth 100 2.0 20
30192128 qphs /qunhluynp/ PCUZ huwin 150 7.5 50
35821400 npno PLUZ hwwn 2500 5.0 2
30141210 hwpyhs Ubkphlw PLUL hun 2200 2.2 1
24911200 unuhtd /Ednyjuhw/ PCUZ hwwn 200 1.2 6
30192730 _ puthwghly jusnit fuqu PCUZ hunn 100 2.0 20
22811120 npudwplnuyht iph opykip PCUZ hun 5 0,5 100
22811120 npudwpynuyhtt dnunph opykip PCUZ huin 5 6.0 1200
30197332 YJuphs/dhoht/ PCUZ hwwn 1800 1.8 1
30234640 d1kp hhnpmipinil 16 gp PLUZ hunn 10000 10.0 o
30197330 nuiljhs /plym wigpny/ PCUZ hun 1500 3.0 2
30197330 nuiljhs /Eplnt whgpny/ PLUZ hun 1700 1.7 1
30199231 bundwlh dpwp dhohti swthuh PLUZ hun 20 1.0 50
30199232 Opuwp, Uks A4 pnpdwinp hundwp PLUZ hunn 50 1.5 30




30192710

Unubdwdunhwn gpuukbyuljught

30192720 Qdwilighs /Adwpltp/
30192135 | Gpwdhunt dhonily dwwnhwnh hwdwp
30192136 Uwwnhwn gpubhunk dhonilyny
30192700 Lwlintt mnhn, gdwpwdwimdubtpny
30192100 MEnhtt hwuwpul dhohtt sunthuh
30192760 Uphs
punudkip
Spwbiuynpuwghtt ympkp
09132200 PElght / nkgnijyup/
09132200 Pkught / nkqnijyup/
09121700 Pluwljub quq
plyudkup
Ulpklwukph pupwghl tnpngmd
Uypuiip
42121530 Ubptuwtbph pupdhsubph dwukp b PCUZ npud 100000 100.0 -
wupuquikp
pugudkip 100000 100.0
Uy putip
45461100 Chuwiynmp gniquybnwpuith PCUZ npud - 200.0 -
pupwghly tinpnguwb hwdwp
pugudkip 200000 200.0
Jupswljub vwppunnpmuubkp
16311400 funinnhtidhy Ukpkiw PCUZ npud 500000 500.0 1
30237100 Zundwljuipghs PCUZ npud = 300.0 ---
punudkip 800000 800.0
Stnbkuwljut b uvmtthhghkuhly iynipkp
39812600 Uhinwhwihs ywppnn dhong PLUZ hun 400 1.6 4
39831280 Uwulh pJubiuyn gy 1; PCUZ hun 1800 1.8 L
39812100 Zunnwly Ywippnn hignily 2 PCUZ hunn 2500 25 1
39812410 Yuwhnyph thuy glinn dheng 0.5 | PLUZ hun 2600 2.6 1
39812600 Uuyuiuph jJugdwi hinnily PLUZ hunn 500 2.0 4
39811300 Znunuqkpdnn vhong PCUZ hun 500 1.0 2
39831272 Uwnibiq whuk pJubiugn PCUZ huwn 100 0.5 5
39800000 Zmwnul dwppkint gnpdyjwdp PLCUZ hwwn 600 1.8 3
/wyn hdkpuyht/
39221470 Uy PLUZ huin 900 1.8 2
39221140 Unip&h pudwljnbkp PCUZ unuth 5000 5.0 1
39221140 @hjh pudwljukp FLUZ wnnith 7000 7.0
39513200 Uldknnghljukp /Eplokpwn/ PCUZ huwwn 240 24 10
Cugudkup 30.0
OUNuUsNkE3NML
72150000 Uwutiughnwlub Swpwjnipnih FCUZ npud = 80.0 =
72200000 h/h 1 ¢/h puquyh uyywuwplymd FLUZ npwd 33400 33.4 1
72200000 wnbnEjunnydul. hud. vyyuuwplynud PCUZ npud 10000 120.0 12
32412120 | huwnkpubwn juuh Swpwnipjub wpdhp PLUZ npud 11000 132.0 12
32412120 | Gupwwnhpnyph vywuwpluwi J&wp 12000 12.0 1
32412121 Shpujws hknwjunuwlwuuyh PCUZ npud - 200.0 2
Swinwnipynii
64211130 Roounhti hknwifunuwiljuiugh PCUZ npud - 100.0 &
Swinwynipinil
79100000 Junpwjwupswlub Swpwynipnil PCUZ npud =t 150.0 =
09121700 quqh Juipd PCUZ Jud 156 400.0 2564
09000000 Ey. Eukpghugh Juipd PLUZ yJw/d 49 600.0 12245
71631120 Supunnnmubmi wi/d inkha aliiinid 012 nnwu -- 25.0 2




66514100 Swnuynnuiljut w/d PCUZ npud - 60.0 2
wywhnyjugpuup
22211100 phpph pudwiinpyugpnipnih PCUZ npud s 89.0 2
50311120 hwdwljupgsuyhtt uwpp PLUZ npud = 100.0 -
uwppwynpmdbbph vyyuuwplnud
71631120 Ukpkuwubph pipwughly inpngnid b PCUZ npud = 200.0 -
nkju.uyyuuwplynud
Sumu shwlinhuwgnn Swhu
99000000 woluwnuyupd npwy 17342.0
99000000 Uphuunnunjwpd /yyuipghiwnnpnud/ npud 1255.0
Ughuuwnwtip
71241200 ‘Lufuwgdw-hnwgnunuljut PLUZ npud - 400.0
wohuunnwbipbiip
punudkiup npud 23478.4
Opwgph winjuwinudp Lwhunupnguljub Yppnieinil
pwdht 9 junudp 01 npuu 01 Spwghp 51
Qunud shwlinhuwgnn wy) swhiukp
99000000 plpwghl gpudwotnphikp 20U04-hi npud 7840.0
punudkup npud 7840.0
- | Opugph winjuinudp Cunhwnip pinyph wy) Swe-t
pwdhli 1 junwdp 3 quiu 3 dpwghp 51
Ownwjnipjnil
50310000 | Cughwlnip punyph wy) Swpwnipnil npuy 500.0
plunudkip npud 500.0
Opwugph wijuiinudp @nyph tjuwndwdp hpuynitiph
qpuiignid
pwdhti 01 funudp 06 nuiu 01 Spwghp 52
Ownwympjnii
70120000 Gniyph gpuitignud npud 200.0
72160000 ybwn nnupp/wyywpununhp npud 50.0
J&wpukp/
plunudkup 250.0
Opwgph winjuinudp Lilhpuwnympinit wy) owhnyp
shinnuy innn juquulkpynmpniuubph
Pwdhl 10 junuwdp 07 nuau 01 dpwghp 55
Qunud shwiinhuwgnn dwjuu npud 150.0
99000000 [ punudkup npud 150.0
Opugph winjwinudp Spgwlju dhgunjuyph
wuwonywbnpinil /Unpubhwinipinily/
Pwdht 05 junwdp 01 quu 01 dpwghp 51
Uy puitip
09134200 Thqbjughtt Junkihp PCUZ 1hwp - 300.0 --
/undwnuyh/
Sumd shwbinhuwgnn wyp
Swuubkp
99000000 wohiunujupd npud 1230.0
punudkup 1530.0
Opwugph wiuimd Zwdwjipughtt dowlynyph b
wquun dudwigh juquulkpynd
Pwdhti 08 janudp 02 nuiu 03 dpwighp 51
Uypwlp
39220000 Udwbopju Wkpukp PLUZ npud = 200.0 &3
/Epkuwbitphty/
39220000 ‘Lkpukp /gniquptuy PCUZ npud = 600.0 ot




Juiiutig vhg. opdw wnphy/

plugudbkup 800.0
Ownwnipjnii
55241200 Zwquunh uquuljkpynud PCUZ npuu 200.0
plunuukip 1000.0
Opugph wiuinmud Zuwughuwn dowlnyp §pnt
Pwdht 08 funwdp 05 nuu 01 dpwghp 51
Uwjpwuiip
39220000 ‘Ultiputip /unpuyuwlubpht/ FCUZ npuu 400.0
39220000 Uwpwiiph dkpp pipnud PCUZ npud 500.0
/nplunkqhty/
79952100 Uswljnipuhtt thongundwl 100.0
Juquulkpuynud
Qumd shwinhuwgnn wyp
Swijuukp
99000000 wofumnwdupd 6162.0
‘ Uohaunutip
45111440 Uswlnyph wnwb hwipulhg nc npud 2300,0
wnwpwdph pupkijupguiub b
odwiinulj ohtinipyjuts
Jurpnignid
71241200 Lwuugdw-hEnwgnunuljui PCUZ npud 250,0
wpluwnwipikp
Cunwdkip 9712,0
Unghwjuljwb wwownwywbnipjnih
Pwdht 10 junwdp 07 nuu 01 spwughp 54
Qund shwinhuwgnn wyp
Swuiukp
75310000 wy] byywuntikp pjnigkhg npud 1500.0
75310000 hnuyuplunpnipjut buyywuwn npud 500.0
Cunudkup 2000.0
Opwgph winuwinup Pupdpugnyli Yppenipinil
Pwdhl 09 junudp 04 nuu 01 dpwghp 54
80300000 ppujub hyywuntkp npud 200.0
piniokihg
punudkip 200.0
Opwgph wijuwimd Upwnwpht jniuwynpnipjui
guligh hhtlwtinpngnid /thny.|niuwynpopym b/
Pwdhl 06 junulp 04 nuu 01 dpwughp 51
Ownwjnipjnii
65310000 I k1. Bukpghuyh Jupd PLUZ Yw/d 49 800.0 16326
Uyjputip
44300000 |nuwnnt uwppunnpmdubph b PCUZ npud i 698.0 -
withpudbton yuwpwqukph
Atinp phpnud
punudkup 1498.0
Opwgph wywinud Qpuyjhtt junnygubkph
owhwgnpénmud b wywhuywinud
Pwdhli 06 lunudp 06 nuu 01 dpwghp 55
Ownuwnipinil
65000000 opuwdwinuljupupdui Y&up PLUZ fud 51.49 2000.0 38842
Qumd shwiinhuwgnn swhiu
99000000 woliunuyjupd npud 1000.0
plugudbup 3000.0

Opwugph winjwimudp Uy jurnygubph




ohttwpupmpinil

Pwdht 04 junuwip 03 nuu 02

Ushuwnwlip

44161110 quqh$hljuugnid

PLUZ

npud

950.0

plunudkup

950.0

Opugph winjuimup Uudpwyn-phinntyw swdlh
JEpwlnpngnud

Pwdhl 04 funulp 05 nuu 01

Ushmunutip

44112370 Zuduyupughtt thnnnghkph
JEpwbinpngnud

PCUZ

npuu

950.0

Uypuitip

09134200 Thqbpughtt Junkjhp /udwnwhi/

PLUZ

400.0

09121700 Puwljub quq

PCUZ

puud

180

600.0

pugudbup

1950.0

Opugph wiuinudp Lwhiwunu pnguljui
hwunuwnmpjub hhdtwinpngnud

Pwidht 09 funuwlp 06 nuu 01

Ugluunulip

‘Luw iy pnguljub
45000000 hwuwnunnipyut YEpuwinpngnud

jpwd

500,0

punuukup

qpud

500,0

Opwgph wijwinudp Ywbwy  twpudputph hhdunwd
b wwhuwtnud

Pwdht 05 junwlp 06 nuu 01

Ughmuwnwlip

Quitwy wnwpusphtph hhdunwd
73311600 b yuwhuywinud

e

2000.0

punuikiip

npud

2000,0

Opwgph wiuimudp  Jupswljut pymekh
wuwhnuwwnuht $niin
Pwdhl 11 funuwip 01 nuu 02

npud

1044,6

punudkup

npud

1044,6

Opwgph wijuinudp $ntunughtt pymgekh
wwhniuwnwht nlin

Pwidhti 11 funulp 01 nuu 02

npud

4000,0

punudkup

npud

4000,0

CUTHUUTBLL

61603.0




